

Association of hypertension with generalized and central obesity in rural adults: A cross-sectional study in Bangladesh

Babli Sabina Azhar, Muminun Ara, Mariom Yasmin, Faiza Ebnath Noshin, Md. Mamunur Roshid, Bose Alvin Aurthy and Shammy Akter *

Department of Applied Nutrition and Food Technology, Islamic University, Kushtia 7003, Bangladesh.

Abstract

Background and aim: Obesity and hypertension are public health concerns. An increase in body weight is typically followed by an increase in blood pressure. This study aimed to investigate the association of general and central obesity with hypertension in Bangladeshi adults using WHO classification.

Methods: A Cross-sectional study of Bangladeshi adults (both males and females) aged (20-65 years). General obesity was determined by BMI in kg/m². WHO classification for BMI for Asian population are underweight (BMI <18.5), normal (BMI 18.5-23.5), overweight (BMI 23.5-27.5) and obese (BMI >27.5). Central obesity was defined as a WC ≥ 80 cm for females and ≥ 90 cm for males. Hypertension was defined by systolic blood pressure (SBP) ≥ 140 mmHg and/or, diastolic blood pressure (DBP) ≥ 90 mmHg and/or, intake of anti-hypertensive drugs at the time of data collection. Prehypertension was defined as SBP 120–139 mmHg; and/or DBP 80–89 mmHg. Multinomial logistic regression analyses were performed to assess the association of general and central obesity with hypertension.

Results: In this study, the overall prevalence of hypertension in Bangladeshi males and females was 15.3% and 6.0% respectively. The males had a higher prevalence of general obesity (13.3%), central obesity (35.3%) and hypertension (15.3%) compared to the females (13.0, 28.5, and 6.0%, respectively). The odds of having hypertension for general and central obesity were 2.18 95% CI (1.12-4.23), 1.53 95% CI (0.94-2.5) while adjusted odds ratio (aOR) were 1.31 95% CI (0.76-2.27) and 1.67 95% CI 0.97-2.87 respectively.

Conclusion: Thus, not only general obesity but also central obesity should be used to assess obesity in Bangladeshi adults.

Keywords: Cardiometabolic risk; Cardiovascular disease; Adiposity; Epidemiological transition; Nutrition transition; Non-communicable diseases; Public health

1. Introduction

The silent killer; hypertension contributes to cardiovascular disease, stroke and premature mortality [1]. With time the prevalence of both obesity and hypertension is increasing speedily in the world and has been considered a public health concern. Obesity is generally measured using body mass index (BMI) [2], which has been proven to increase the risk of hypertension, coronary heart disease, stroke, diabetes and other non-communicable diseases [3]. However, BMI alone cannot provide complete information on body fat distribution, which is associated with metabolic risk. Moreover, BMI often fails to assess the cardiometabolic risk in adults with an excess of adiposity [4]. In this case, abdominal obesity which is measured based on waist circumference (WC) can provide useful information on visceral fat accumulation in

*Corresponding author: Shammy Akter;

Department of Applied Nutrition and Food Technology, Islamic University, Kushtia 7003, Bangladesh.

the body [5]. Abdominal obesity is associated with an increased risk of type 2 diabetes, cardiovascular disease, metabolic syndrome and all-cause mortality [6]. On the other hand, hypertension is a major cause of morbidity and mortality. Increase in arterial pressure was shown to be associated with weight gain and it is estimated that 60-70% of adult's hypertension is related to adiposity. Hypertension is a significant risk factor for disability and death worldwide, affecting more than 1 billion people and causing approximately 9.4 million deaths every year [7]. In contrast to developed countries, the prevalence of hypertension is also increasing in developing countries with no improvement in awareness or control measures [8]. In Asia, especially the South Asian countries are facing a burden of hypertension and associated diseases [9]. Studies showed that obesity and hypertension are often occurred together and increased the risk of cardiovascular mortality [10]. It has been reported that both demographic, nutrition and socioeconomic transitions have contributed to the burden of obesity and hypertension in developing countries [11] and the epidemiological transition from infectious diseases to non-infectious diseases [12]. Bangladesh is a developing country in South Asia, with the rapid urbanization and industrialization in recent years, the prevalence of obesity and hypertension has increased remarkably in this country. Several early studies reported the prevalence of obesity and hypertension in Bangladeshi adults [13-15]; however, a number of them focused either obesity or hypertension or either male or female. Therefore, this study aims to assess the association of general and central obesity with hypertension in rural adults in both gender in Bangladesh.

2. Material and methods

2.1. Study subjects and study areas

The current study was a cross-sectional design conducted between January 2022 and April 2022. Data were collected on 400 participants (275 males and 125 females) from rural communities of Kushtia and Jhenaidah districts in Bangladesh. The subjects (aged 20-65 years) who were consented to participate included in the present study. The inclusion criteria were both genders, willingness to participate. We also set some exclusion criteria, for example, we did not collect data on participants who were pregnant or nursing mothers, and individuals who had hepatic disease, cardiac disease, renal disease and malignant disease.

2.2. Data collection

We followed a purposive sampling method in data collection. Data were collected on demographic and socioeconomic factors using a pre-structured questionnaire. The questionnaire was administered by trained interviewers at participant's convenient location. Anthropometric data namely Body mass index (BMI) and waist circumference (WC) were measured following standard procedures. We asked all the participants to avoid tea, coffee, beverages, eating, smoking and heavy physical work at least 20min before blood pressure (BP) measurement. The participants were also allowed for 5min rest before measuring BP two times at 5min intervals on the left arm in a comfortable sitting position using a digital BP machine (Omron M10, Tokyo, Japan). The study used the mean of two times blood pressure measurements.

2.3. General and central obesity categories

The study used World health Organization (WHO) classification for general and central obesity. General obesity was determined by BMI in kg/m². WHO classification for BMI for Asian population are underweight (BMI <18.5), normal (BMI 18.5-23.5), overweight (BMI 23.5-27.5) and obese (BMI >27.5).

Central obesity was assessed by measuring waist circumference in the study. Central obesity was assessed by measuring waist circumference. In the study, the participant's waist circumference size was measured at a central point between the lower ribs and iliac crest [8]. Central obesity was defined as a WC ≥ 80 cm for females and ≥ 90 cm for males [13]. Hypertension was defined by systolic blood pressure (SBP) ≥ 140 mmHg and/or, diastolic blood pressure (DBP) ≥ 90 mmHg and/or, intake of anti-hypertensive drugs at the time of data collection. Prehypertension was defined as SBP 120-139 mmHg; and/or DBP 80-89 mmHg [14].

2.4. Statistical analysis

Continuous variables were described as mean (M) ± standard deviation (SD) while categorical variables as frequencies and percentages. The difference among hypertensive, pre-hypertensive and normotensive groups in this study was compared by one-way ANOVA. Multinomial logistic regression analysis was done to measure the odds ratio along with 95% confidence interval. Hypertension was examined as outcome variable along with BMI and central obesity as predictor variables. The significance level was set at p < 0.05. All of the analyses were conducted in SPSS 21.0 (SPSS Inc., Chicago, IL).

3. Results

A total of 423 subjects aged 20-65 years old were examined. From those examined, 23 participants were excluded and the final analytical sample included 400 participants.

Table 1 represents the characteristics of the study subjects. Out of 400 participants, 68.8% were male and 31.3% were female. The mean age and BMI of the participants were 42.91 ± 8.95 years, 25.26 ± 3.83 kg/m² respectively. The mean WC for male and female were 90.37 ± 9.21 and 94.28 ± 10.61 respectively. The mean SBP and DBP were 121.62 ± 9.83 mmHg and 80.92 ± 6.97 mmHg, respectively.

3.1. Body mass index and waist circumference data

Table 2 and 3 summarize BMI and WC data by gender and age group. The prevalence of general obesity in male and female was 13.3% and 13.0% respectively while the prevalence of central obesity was 35.3% and 28.5% respectively. Both general and central obesity prevalence was significantly higher in males (13.3% and 35.5% respectively) than the females (13.0% and 28.5% respectively).

The prevalence of general and central obesity in young adults (20-39 years) was 10.3% and 23.0% respectively while in middle adults (40-59 years) it was 15.8% and 38.8 % respectively and in older adults (60-99 years) 0.3% and 2.0% respectively. In both general and central obesity, prevalence was higher in middle-aged adults (15.8% and 38.8% respectively) than the other two age groups.

3.2. Blood pressure data

According to table 2, the prevalence of pre-hypertension and hypertension was 37.0 and 15.3% in males and 17.8 and 6.0% in females respectively. The overall prevalence of normotensive, pre-hypertension and hypertension was 24.0, 54.8 and 21.3% respectively. However, males were more hypertensive (15.3%) than females (6.0%).

Middle-age group participants were significantly more pre-hypertensive (28.5%) as well as hypertensive (15.8%) than other groups. The comparison among hypertensive, pre-hypertensive and normotensive groups was listed in Table 4. There were significant differences for all characteristics inspected among the three groups. The hypertensive group was significantly older in age; higher in BMI, SBP and DBP, compared to pre-hypertensive and normotensive groups. In case of WC, in all three BP groups the mean was higher in female than male ($p < 0.05$.)

Table 1 Characteristics of the study subjects in rural adults

Measure	
Gender (%)	
Male	68.8%
Female	31.3%
Age (years)	42.19 ± 8.95
BMI (kg/m ²)	25.26 ± 3.83
WC (cm)	
Male	90.37 ± 9.21
Female	94.28 ± 10.61
SBP (mmHg)	121.62 ± 9.83
DBP (mmHg)	80.92 ± 6.97

Data are presented as mean ± standard deviation (SD) for the continuous variables and percentages for the categorical variable.

Table 2 Characteristics of the study subjects in rural adults by gender

Gender	Body mass index					Waist circumference				Blood pressure		
	Under-weight (%)	Normal (%)	Over weight (%)	Obese (%)	P-value	Normal (%)	Obesity (%)	P-value	Normotensive (%)	Pre-hypertensive (%)	Hypertensive (%)	P-value
Male	1.8	25.8	28.0	13.3	0.000	33.5	35.3	0.000	16.5	37.0	15.3	0.779
Female	0.5	5.3	12.5	13.0		2.8	28.5		7.5	17.8	6.0	
Total	2.3%	31.0%	40.5%	26.3%		36.3%	63.8%		24.0%	54.8%	21.3%	

Data are presented as percentages for the categorical variables. P-values are obtained from the chi-square test.

Table 3 Characteristics of the study subjects in rural adult by age groups

Age groups	Body mass index					Waist circumference			Blood pressure			
	Underweight (%)	Normal (%)	Overweight (%)	Obese (%)	P-value	Normal (%)	Obesity (%)	P-value	Normotensive (%)	Pre-hypertensive (%)	Hypertensive (%)	P-value
Young adults	1.8	11.8	16.0	10.3	0.113	16.8	23.0	0.138	10.8	24.5	4.5	0.002
Middle-aged adults	0.5	17.5	23.5	15.8		18.5	38.8		13.0	28.5	15.8	
Older adults	0.0	1.8	1.0	0.3		1.0	2.0		0.3	1.8	1.0	
Total (%)	2.3	31.0	40.5	26.3		36.3	63.8		24.0	54.8	21.3	

Data are presented as percentages for the categorical variables. P-values are obtained from the chi-square test.

Table 4 Characteristics comparison among hypertensive, pre-hypertensive and normotensive groups

	Hypertensive		Pre-hypertensive		Normotensive		P value
	M	SD	M	SD	M	SD	
Age (year)	47.24	8.42	42.08	8.95	40.97	8.22	0.000
BMI (kg/m ²)	25.25	3.52	25.30	4.02	24.28	3.42	0.002
WC (cm)							
Male	92.67	10.08	90.66	8.62	87.58	9.10	0.004
Female	96.62	8.50	94.66	8.50	91.53	8.58	0.196
SBP (mmHg)	133.47	8.12	121.94	5.31	110.41	5.50	0.000
DBP (mmHg)	90.76	4.53	80.49	2.77	73.17	4.53	0.000

Data are presented as mean $\pm$ SD for the continuous variables. P-values are obtained from one-way ANOVA for continuous variables.

In multinomial regression model, the odds for general obese people to get hypertension were about 2.18 times higher compared to people with normal BMI and the odds for central obese people were 1.53 times higher compared to people without central obesity. Moreover, older adults have 3.19 times higher risk of having hypertension than young adults.

Table 5 Regression analysis

Variables	Hypertension	
	OR (95% CI)	aOR (95% CI)
Age group (years)		
Young adults	--	--
Middle-aged adults	3.07 (0.36-25.7)	3.11 (0.37-26.15)
Older adults	3.19 (0.38-26.62)	3.21 (0.38-26.84)
General obesity (BMI)		
Normal	--	--
Overweight	1.16 (0.62-2.15)	0.90 (0.49-1.67)
Obese	2.18 (1.12-4.23)	1.31 (0.76-2.27)
Central obesity (WC)		
Normal	--	--
Obese	1.53 (0.94-2.5)	1.67 (0.97-2.87)

^a Adjusted odds ratio, OR odds ratio, CI Confidence interval. Adjusted by gender.

4. Discussion

This study reports on the prevalence of both general and central obesity and hypertension in rural adults in two districts of Bangladesh. In this cross-sectional study, the overall prevalence of general obesity, central obesity and hypertension was 63.8, 26.9 and 21.1%, respectively. In our study, a higher prevalence of general and central obesity was found in males than in females which were different from studies performed in South India [16] and China [17]. In Bangladesh, a limited number of studies have been conducted to estimate the prevalence of general obesity and central obesity in the general population. A previous study conducted in the Dhaka region of Bangladesh also reported a high prevalence of general obesity (26.2%) and abdominal obesity (39.8%) and this rate was higher in women [18]. A few more studies that used a different anthropometric cut-of value, reported a variation in the range of general and abdominal obesity prevalence in the Bangladeshi population [19]. In our survey, the prevalence rate of central obesity was more than two fold higher than general obesity which indicates that an important portion of the study subjects was not identified as obese only based on their BMI levels. Therefore, a specific BMI cut-of level for both sexes may not be enough to estimate general obesity. Considering sex, age and ethnic-specific BMI cut-of levels might be more appropriate for defining general obesity.

In the current study, we found a higher prevalence of hypertension in males (15.3%) than females (6.0%) although the difference was not significant. Some early studies in Bangladesh also reported hypertension prevalence in the country but a wide variation has been found between the studies. A systematic review and meta-analysis reported the prevalence of hypertension as 13.5% in the Bangladeshi population [20]. Another study in the country indicated a higher prevalence of hypertension (26.4%), with a higher percentage in women than in men [21].

The odds for generally obese people to develop hypertension were 2.18 times higher compared to people with normal BMI and the odds for centrally obese people were 1.53 times higher, as compared to people without abdominal obesity. The result in this study showed that having central obesity will also give a risk to get hypertension. The association and odds of hypertension is consistent with several previous studies, one previous study stated in detail that for every additional 1 cm in waist circumference, the odds for hypertension is 1.04 times higher [22]. Therefore, both BMI and waist circumference should be examined to assess hypertension. This is consistent with a previous study that suggests using not only BMI but also WC as significant predictors of hypertension in the population [23]. Both general and central obesity assessment are important to improve the evaluation of potential health risks and to provide accurate prognosis by estimating fat distributions. Additionally, previous research found that each fat depots such as lower body, upper body and visceral have unique characteristics related to the metabolism of fatty acid [18]. For people at risk who tend to store their excess weight abdominally, determination of waist circumference will help to improve the treatment [15]. Therefore, in assessing patients with health risks associated with obesity, measuring waist circumference as a

complement of simple BMI measurement is necessary. In general, Asian people are likely to have a higher percentage of total body fat and central adiposity compared to Caucasian people. Another research conducted on a population in Pakistan found out that a quarter of the study population was classified as overweight or obese using the Asian cut-offs [9]. The use of a lower BMI classification may provide reliable estimation and optimal identification of obesity-related disease risks in Asian populations [25].

One limitation of this study is it is cross-sectional study that gives only a one-time measurement for classifying the BMI and WC score from the participants. Therefore, it is difficult to state a direct causal inference. Further longitudinal studies are needed to assess the effect size of general and central obesity on hypertension.

5. Conclusion

Our study found that both general and central obesity cut-off values should be used in adults for properly defining health status which would be appeared as precise predictor variable in context of association with hypertension.

Compliance with ethical standards

Acknowledgments

The authors are grateful to the department of Applied Nutrition and Food Technology, Islamic university, Kushtia, Bangladesh.

Disclosure of conflict of interest

The authors declare that no conflict of interest exists.

Statement of ethical approval

The present research work does not contain any studies performed on animal/humans subjects by the authors.

Statement of informed consent

Informed consent was obtained from all individual participants included in the study.

References

- [1] World Health Organization. World health day 2013. A global brief on hypertension. 2013. p. 9
- [2] Després J-P. Body fat distribution and risk of cardiovascular disease: an update. *Circulation*. 2012; 126 :1301–13.
- [3] Weight and obesity. *J Chronic Dis*. 1972;25 :329–43. 4. Urek R, Crncević-Urek M, Cubrilo-Turek M. Obesity--a global public health problem. *Acta Medica Croatica* 2007;61 :161–4.
- [4] Ross R, Neeland IJ, Yamashita S, Shai I, Seidell J, Magni P, et al. Waist circumference as a vital sign in clinical practice: a consensus statement from the IAS and ICCR working group on visceral obesity. *Nat Rev Endocrinol*. 2020; 16: 177–89.
- [5] Huxley R, Mendis S, Zheleznyakov E, Reddy S, Chan J. Body mass index, waist circumference and waist: hip ratio as predictors of cardiovascular risk--a review of the literature. *Eur J Clin Nutr*. 2010; 64:16–22.
- [6] Janssen I, Katzmarzyk PT, Ross R. Waist circumference and not body mass index explains obesity-related health risk. *Am J Clin Nutr*. 2004;79:379–84
- [7] WHO. A global brief on hypertension: silent killer, global public health crisis: World Health Day; 2013. <https://www.who.int/publications/i/item/a-global-brief-on-hypertension-silent-killer-global-public-health-crisis-world-health-day-2013>
- [8] Mohsen IM. Hypertension in developing countries: a major challenge for the future. *Curr Hypertens Rep*. 2018; 20:38.
- [9] Neupane D, McLachlan CS, Sharma R, Gyawali B, Khanal V, Mishra SR, et al. Prevalence of hypertension in member countries of south Asian Association for Regional Cooperation (SAARC): systematic review and meta-analysis. *Med (Baltimore)* 2014;93(13):e74. <https://doi.org/10.1097/MD.0000000000000074>.

- [10] Prospective Studies Collaboration. Body-mass index and cause-specific mortality in 900 000 adults: collaborative analyses of 57 prospective studies. *Lancet*. 2009; 373:1083–96.
- [11] Kearney PM, Whelton M, Reynolds K, Muntner P, Whelton PK, He J. Global burden of hypertension: analysis of worldwide data. *Lancet*. 2005; 365:217–23.
- [12] Boutayeb A. The double burden of communicable and non-communicable diseases in developing countries. *Trans R Soc Trop Med Hyg*. 2006; 100:191–9.
- [13] Ali N, Mahmood S, Manirujjaman M, Perveen R, Al Nahid A, Ahmed S, et al. Hypertension prevalence and influence of basal metabolic rate on blood pressure among adult students in Bangladesh. *BMC Public Health*. 2017; 18:58.
- [14] Chowdhury MAB, Uddin M, Haque M, Ibrahimou B. Hypertension among adults in Bangladesh: evidence from a national cross-sectional survey. *BMC CardiovascDisord*. 2016;16:1–10.
- [15] Ali N, Mahmud F, Akter S, Islam S, SumonAHA, Barman D, et al. The prevalence of general obesity, abdominal obesity and hypertension and its related risk factors among young adult students in Bangladesh. *J ClinHypertens*. 2022;1–11. <https://doi.org/10.1111/jch.14560>.
- [16] Kaur P, Rao SR, Radhakrishnan E, Rajasekar D, Gupte MD. Prevalence, awareness, treatment, control and risk factors for hypertension in a rural population in South India. *Int J Public Health*. 2012; 57:87–94.
- [17] Zhang X, Sun Z, Zhang X, Zheng L, Liu S, Xu C, et al. Prevalence and associated factors of overweight and obesity in a Chinese rural population. *Obesity*. 2008; 16:168–71.
- [18] Siddiquee T, Bhowmik B, Da Vale Moreira NC, Mujumder A, Mahtab H, Khan AKA, et al. Prevalence of obesity in a rural Asian Indian (Bangladeshi) population and its determinants. *BMC Public Health*. 2015; 15:860.
- [19] Islam F, Kathak RR, Sumon AH, Molla NH. Prevalence and associated risk factors of general and abdominal obesity in rural and urban women in Bangladesh. *Plos One*. 2020; 15:e0233754.
- [20] Moniruzzaman TA, Rahman S, Acharyya A, Islam FA, Ahmed MM, et al. Prevalence of hypertension among the Bangladeshi adult population: a meta-analysis. In: *Regional Health Forum*; 2013. p. 15
- [21] Chowdhury MAB, Uddin M, Haque M, Ibrahimou B. Hypertension among adults in Bangladesh: evidence from a national cross-sectional survey. *BMC CardiovascDisord*. 2016;16:1–10.
- [22] Islam S, Rahman S, Haque T, Sumon AH, Ahmed AM, Ali N. Prevalence of elevated liver enzymes and its association with type 2 diabetes: a cross-sectional study in Bangladeshi adults. *Endocrinol Diabetes Metab*. 2020; 3:e00116.
- [23] Moni MA, Rahman MA, Haque MA, Islam MS, Ahmed K. Blood pressure in relation to selected anthropometric measurements in senior citizens. *Mymensingh Med J MMJ*. 2010; 19:254–8.
- [24] Ali N, Miah R, Hasan M, Barman Z, Mou AD, Hafsa JM, et al. Association between serum uric acid and metabolic syndrome: a cross-sectional study in Bangladeshi adults. *Sci Rep*. 2020; 10:7841.
- [25] Ali N, Mahmood S, Islam F, Rahman S, Haque T, Islam S, et al. Relationship between serum uric acid and hypertension: a cross-sectional study in Bangladeshi adults. *Sci Rep*. 2019; 9:9061.